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In order from smadllest to largest

A prime number

10s
1l2l3fa[65]6[7]8]9]10 has exactly 2
R @ ™ R ’ / / 1112 13| 14]15]16 [ 17|18 [19] 20 Cactors.
. @ @ 2043241 2764406 2,870,540 212223 24 /25|26 27 |28 |29 30 2,3,5,7,11, 13,
o |G (o £I49, <4, < 313233343536 |37 383940
41 4243|4445 46| 47| 48|49 |50 Al
® 7,49
Stop and look. 51 |52 | 53 | 54 | 55 | 56 | 57 | 58 | 59 | 60 1 and 3 are
What do you notice? 61 62|63 |64 656667 68]69]70
2 5 4 3 2 5 1 71|72 [73 |74 |75 | 76 | 77 |78 [79 | 80 FIEN GG
of 15 and 21
two million, five hundred and forty-three thousand, two hundred and fifty-two 81 62 6931 84 185 | 86 | &7 | 86 JOAY 90
2 millions, 5 hundred thousands, 4 ten thousands, 3 thousands, 2 hundreds, 5 tens and 2 ones 292 03 [ 54 1% | 9 [ °8 | %9 |190 15 and 21 are
/ / / / / — 2 common multiples
(XC’( e
. l . e e ge %Oh \&:“? g <
M [vTh [TTh| Th 1008 10s | 1s § 5 | % |ido Multfoylr;ggnd g'\i'gg‘g by W IF T know..
’ an 5;\,\1‘90 then I also know...
<Ten o 1 136 08x7=8x7<10 ;eacause...
at ) [ S X =X /- =D
reder 6 move digits 1 place left 56,000 + 80 = 700
11816 (0]|0 move digits 3 places left
. 3 1 24
<Ten times D 136 0407 Ar 2 |48
smaller 1¢3]|6 move digits 1 place right X 24/3'3'39 7 %
136 5 | 120
| 0 r 118316 move digits 2 places right q 1 8 [ 192
P T 24/33'39 000 [Elzo
24+3=1 Round to the 5 or more - round up %
* 4 or less - round down
— W. *’(,; --------- i 2/643,278 —> 3,000,000 T 3339 + 24 = 13913 = 1395,
-10 <« — 3 1 MUV, MUY,
negative positive = 13913 ( to 2dp)
Year 6 Term 1 y
% N 54
4 4 Reflect &
(-4,3) % 8 x*—(4,8) 3 Translate the triangle in the 3
1 1 -
5-4-3-2-10 123 4 5 X 5437101234 5 X gt EXEE. 5 X
2 2 .
(-4, -8)—x% -3 X~ (4,-3) = -3
4 4 =
5 & s
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